"

Section < A (Fhysics)

Two obpects of mass 10 kg and 20 kg resgus tively an
of & tighd rod of length
ol the cvrnth

comnected 1o the two ends
10 enowith pepeligilde mass. The dastine

of mass of the system from the T kg mass s <
3

) Ihm
{7 Sm
'. ~
—m
5) -
20
(4 —m
3

The dsplacement-tome graphs ol two moving
particles make angles ol 30 with the
c-uxin 4y shown i the figure  The ratio of thei

and 45

respective velocity Iy

displacemetit —

{1 1:2
2 1:43
& J3
W I

I a soap bubble expands, the pressure inside the

bublde

(1) remainsthe same

(2}  sequalto the atmosphers pressure
)
“

dectrnses

TS

The angle between the electnic lines of foroe and the
equipotential surface is

. W

@ 18

@

W &

el

slil experiment, & student
grtn »;‘y.n‘.'l\l of screen

it of SO0 i wavelength

Ina Young doulble
pheorvies 8 frinpes inat
when a monochroeaain Mg
1 the wayelength ¢
fyery the nusnsber of IINges Ive would obserye

¢ light is changed to

n sl

N L
aame rgricm of the screen s

in the

(2} 9
() 12
() |
(4) 8

[he tatio of the radius of gyrabon ot a thin undorm

dise about an axis passdry) through ity centre and
normal 1o s plane to the radus of gyration of te

disc abost its hiameter is

a 4.1
o -
3 21
L 2

A square loop of aide 1 m and resistance 1 ) ks
placed m 4 magnetic fiold of 0.5T. 1 the plane of
foop B perpondic ular 0 the direction of magmnets
fiekd, the msagnetic flux through the loop &

(1) 1 weber

(2) rero webes

13 2weber

+) 0.5 weber

Tho graph which shows the vanation of the de
Broghe wavelength (3) of a particie and its assocated
momentum (p) (s

'

’_

A 1
2
»
:
5
3
" 4
et ;! —-
4 -
’ ) “\
(4 .
N
\\
g

9

10

1

1 thw
then

mwan



p student
ol screen "
welength

anged to
1 cbserve

10

unilarm
ntre anid
an of the

=1 1t1s
sane of

mwm'
1

¥

1%

U e irvitial bemisaon on a stretched string o doublad
then the Tatia of the initial and final speesls of a
frarsvesse wave along the string 1

) | QPR
17) | 0
3 i

4) 7

N

When light preopagates through o material medivm
of relative permittivity ¢, and relative pesmeabality
s e velooity of Hight. o s given by - (c velocity of
light &n vacuum)

.
15
\
Ve,
‘
(M)
gt
(R
",
(4) ) ‘:‘

A copper wire of fength 10 m and rodius
(Y}
curfent donsity in the wire for an electrc Hiedd
strengthof 10 (V/m) is

! 71 ) m has electncal resistance of 1011 The

(1 02 A/m?
(2 10°Afm?
) 0 A /m?
9 WP A/m?

A spherical brall s shroppesd I a Jong colanin of A
highly vascous liquid. The curve in the graph
showny, which represents the spead of the ball{0) as
Afunctionof ime (1) =

8 S

lv . }'.‘
/A = o
e 2L
2 »
gy A

A long solinoid of radims 1 mm has 100 tums per
me. U 1 A current flows in the sobenoud, the
mnpnetic tield strength at the centre of the solenoud
14

(1) sex10-tl
2y e2Ex10-*7
M 628x10°%1
() 1251073

3
1

16

19,

4 b 00 kW
The gy 1t will b e ally radsale dbyal Y

wransmitter in 1 hour i

() 30 % 107 )
(7 1x0
‘1', > 10 I

B)] R |
s s
A Baconvex less has radn at curvatune, S €in SacH

If the refractive mdesx of the mah rial of the lens ™

1 5. the power if the lovs 1o

1) +50)

() anfinity

(R m

(4} + 20D

An eloctoe Teft with & masimum lead of 20000 by
(L passeongres) s s ing up w ith & constant
spossd of 1.5 The frctional foe pposing

the meotioe 16 000N The miramyum powey dutivered
by the modos bo the LTIy 1% i 1 ms \
) M5

2 23500

a 21000

) Jooo

A body of 1mass 00 g expeaooces o grav satiomal fuers
of 30 N, when placed at a particular point b

tv at that

magrutude of the gravitaby sl Bield anhensaty at
poant 1%

l NN/
N 180 N
{3y DO5N/ g
4 SON/Ag

Plare angle ansl solid anghs have
(1 No amts and oo dimeratons
2 Both units and dimensions
) Units but no dimensions

%) Dimensions but no urits

In the given arcuits {(a), (b) and (c), the potential
d1op acrass the two pen Junctions. are equal
m

(1)
12

Circuit (¢) only
Hoth carcuts (a) and (¢)

3 Cocuit{a) only
4)  Cucut{b) only
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E}
aaency i |20
In half wave sectification, if the inprut frexjues
A0 Hz, then the catpul frequency would be
H o Hz
& 120 Hz
(6] o
W Mz
I the given nuclear reaction the element X 1
ar
g + X ‘
l.,\.l
() i [l
9 San
<) A_‘\‘}’
A SNA
4 } N¢
The peak voltage of the ac source ts equal to 28.
) J3 times the rms value of the ac sourc
(2 1/ 42 tames the ras value of the ac source
(3)  thevalue of voltage supplied to the circunt
(4 e rons value Of the ac source

The dimensions | MLT = <A~ < | belong to the
(1)  magnetic pormeability

(2)  electric pormittivity

3 magnetc thus

14) self inductance

Match List- 1 with List - 1

List-1 List - 11
(Electromagnetic waves) {Wavelength)
tn)  AMradio waves ) 107 1
(b) Microwaves {n) 10¢ m

<) Intrared radiabions () 10 *m
) Xerays
Choose the correct answesr from the ophions given
bedow -

(1) (&) qui), (b)- v, (€)= fai), (D)~ 11)

(2 (&) 4, {B) - i) () - (1v), (d¥- i) 30
(3 (a)={iv), (b)-chi), (€)= (), ()= 4
(9 ()~ (i), (b) - ey e« (1, 4y - fiv)

v} W0 'm

The angular speed of a fly whesl moving with
uniform angular acceleration changes from 1200
The angular

rpm to 3120 rpm in 16 seconds
accoleration in rad /s> s

1 2
2 104
3 2=
{4) 4=

Wy 3
ance, 100 11 and 205 ¢
s o rm'\'] i,

sarallel in an electmcal circyiy ‘ 11 (.
n pe o8 \
s ":1‘ ‘lhr-mml energgy developed in 1

fthe t

o lina given Hme 1s
ol

Jwo n

ratio @
that
| 1
) Rl

1:2

—

>

|4
)
(3) 2.} l
nergy of an electron m iy 6

y

Lnt'Ty and Ty be the ¢

s & HLOC
5 'Ulﬂd exce
A According to tho Bohr's moxded o

{ stales ol h\'\‘.\'u’:(-q Ao
aris
respes tively

stom, the ratio Iy 518

o the distances travelled by a treely
amd 3rd and 4 second

’ A

T he ratios
body in the 1%
(1 1:315
(2 173411
A 1:2:3:4

(3 1141910

An idoal gas undesgoes four different processes frog
he same initial state as shown m the figure below
[hose processes are adiabatic, sothermal, isobars
and isochoric. The curve which represents the

admabatic process among 1,2, 3and 4is 11

(1) i
4
3y 1 1%
4 2

When bwo monochromatic lights of froquency, v and
; : )

are modent on a photoelectric metal their

i !
stopping potential becomes —_‘-‘ and V,_ respectivel

The threshold frequency for this metal is 3
nl

(1) U

. '__J LR R

«




N e flryy
N atom,
l\’(" ol an

',.‘"J”my

5SS from
v below
 Asobar
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Iy, ¥ and
al, their

sectively
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Given below are two statements

Statement 1:

fHotSavart's law gives us the expression for the

magnetic Held strength of an infinitesiosal current

clement (1) of 4 curment carrying conductor only

Statement I1; :

Piot-Savart s law is analogous to Coulamby's inverse

square lnw of charge g, with the formws brang; related

to the fleld produced by o scalar source, 1d) while

the latter being produced by a veclon souroe, §

In lght of above statements chome the most

appropriate answer from the options given

below

() Statement 115 correct and Statement | BT
R rrect

7 Statement 1 s (ncorrect and Statement LR
cornxt

()] Bolly Statement 1 and Statement Il are correct

4 Both Statement | and Statement 11 are
meorrect

A shedl of ass 1y s ot restinitially. it explodes into
three fragments having mass 0 the rata 2:21 1
the tragments having equal mass fly off aléng
mutually perporsliculay directons with speed 1, the
spoed of the third (Tighter) fraguwnt i

(1) 3J2 v

{2} 302 1

3 v

@ JZo

As the temperature increases the electrical
resistance

) incroases for conductors bat devinases for
semicpnductors
(2)  decreases far conductors buk InCriases for

sepmiconductors

(3) increases lor hath conductors and
somonducions

{4y decreases tor both conductors and
semicomductors

Two bollow conducting spheres of radii R, and R
(Ry>>Ry) have equal charges [he potential would
e

(1) il oy both the spheres ‘

2) .:lpcndcnt on the material property o¢ the

wphere
(@) moreon biggiser sphere
(@) moreon smalior splete
A gt ray falls oana ghass surtace of refractive index
J5, atananghr 6 The angh between the refracted
and reflected rays would be

Section - B (Phynics)

['wo trnnspanent mexdia A ancl B are :af:_'.\!.unl by a
plane boundary, The sp il of Ligght in those media
are 15 10" m /s and 204 10 M/, puspectively
Fhe critical Al‘l»','*‘ for A ray ol lnp]ﬂ sor thwse two media

) an (9.500)

1) un - 1{0,750)

A nwcleus of mass sumbes 139 s plits inbo two ot lol
having mass number 125 and &4 The ratwo ol radius
af two dn

vher naclel pespectively »

(1) S:4
2 5

{3) 1:1
) 4:5

The truth ta! I n boge crcuatis
A i
) 1
0
L
1
A
0
@
|
A
0
™
1
A C
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Laven below are o statements - e 88 labelbed as
Assertion (A} and e other is labelled as Reason
(1)
Assertion (A
e stretching of i speing B dederminied by the shear
modalus of the matersal of the apring
Reason (R):
A cofl spring of copper has more teasile strength
than a ((\\*I‘\;"!ll\;f of same dimersanns
I the gt of the above statements, choose the most
appn-pri.nr answes from the options glven belaw
(1) (A} truebut (R) is falsy
2} (A) 1 fabse but {R) is true
) Both (A arud (R) are true and (R) w the correct
explanaton of {A)
(4) Both {A) and {R) are true and R} s not the
correct explanaton of (A)
A capucitor of capacitance =900 pF s charged
Qu.ll_v 100V b.lm'rw' Has shown infigure (o). Then
i isdisconnectod from the Battory and connected to
.xinc\tln;-r uncharged Capacitor of capacitance
C =900 pF as shown in figure (b)) Tl electrostati
onvegy stored by the systom (b is
:I }—_——- ! ? :‘
! +| 14
!
< !
(a) { {b)
100V :
B
L
1) 225x 107" )
[} 15X107%]
(&) 45x10°°]
) JdIEx10-"|

Two pomnt charges ~q and +q are placed at a
distance of L, as shown in th figure

-q va

— L —>

The magnitisde of olectnc field intenssty ot a distanse
R{B>>1) varivs as y

1
&
[
R*
1
R
|
.

(n

hH

43

45.

a velocity, 10 ms ' 4

ith
= .‘|,|d wit )
i direction. 25

A ball 15§ :
: f ol with the Ve rhical
tuf its trajee or

" Spoend
angle o s
the !x;p_hr\{ poin

!

(1) 5 ms

| 10 ms

3 Zero

o WE R L

A wories LR circuit W ith inductance 10 |

copacitany 10 Wl resistance 50 LH s conmvected 1

[ . ; : :

i ac sourese of valtage Vo 2000 si 100ty wolt 1f 15,
carcat b s vooand 1h

»
il frequency of the LCR

rosOna

frequency of the ac source = v, then
(1) ' Hz, v=50Hz

o0
{2 ' oHz, v = o Hz
)  w,=v=3H:2
4 \ - 2 Hz

The ares of a rectangular field (in m?) of kgt
55 4 m and breadth 25 m atter sounding off the valug
for correct significant digrts 15

(1) 13815
2) 1x10?
(3) I138xNH
(4) 1382

Hiu volumw occ upiod by the molecules contamed m
45 kg water at STP, if the intermolecular for
vanish awav is

()
2)
3
4)

5.6 x 10-1 m 3
5.6 m’
5.6 % 109 w2

36X

\l':;u E’.'md“hm“ of length 121 em and 100 cm star!
th:‘ INg 10 phase, At some instant, the two ane !
m":r mean pasition in the same phase The
P"m'!ml“m number of vibrations of the shorte:
5 ulum .lft!m which the two are again in phaseal
M2an position is ;

1

@A s

& n

4 9

47
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Match List - L with List-I1

List.1 List - 11

(4} Gravitational W e
congtant (C)

() Cravitabonal By MY

potential enerjy

<) Liravitatsonal
Piddenttial

(i) JLT "4

) Gravitationa)
intensity

(v)  IMLAT-3

Choovse the carrect answer from the Oplions given
lrlm-‘

(1) {m)= (), (L) (ivh fc) - i), ()~ {h)
20 (b= Gav), (b« Cui, ded -4y, (d) - (i)
Q) )= Cu), (b)) (€) - () d) - (i)
) ), (b)Y - (v, () = 00, fel) « (i)

A Wheststone bridge is used to dotermine the value
ol unknown resistance X by adjusting the variahle
resatance Y as shown in the figuse For the most
procise meassrement of X, the resstances P and Q¢

.".1
AR,

- "
N

/ o~
1) >

N v
QN | AY

\‘b'

(1) should be very large and unegqual

(Z}  donot play any stgnificant role

(3 should be upproximately equal to X

) should bo approximately equal and aresmall

A big circular coil of 1000 tums and aversge radsus
10 m i rotating about its harizantal diameter at
2 rad s If the vertical component o‘gc’mrﬁh .
magnetic lield at that place s 2x 10~ T and
alectrical resistance of the coil Is 1256 €1, then the
maximum induced current in the coil will be

(n 1A
2y 2A
M 0BA

@ 15A

50

From Ampere’s circuital law for i long straight wire

of Clremlar cross-section carrying a steady current,

the variation of magnetic field in the nside and

outside repion of the wire s

(1} & linearly increasing, funcbion of distance ¢
upto the boundary of the wire and then
tecreaving one with 1/ r dependence for the
O tsade regian

(94 a lirwrty desreaning function of distance upta
the boundary of the wire and then a Hearly
Mereasing one for the autside regpan

| sndoom and remams constant for both the
gions

{} & Brivardy incremang function of Glstance L
the botndary of the wire and then linearly
decreaning for the outside region

Section - A (Chemistry)

Gove o e ow are o Sttements
Statement 13
it 1 ulationol & peganive sol, the flocculating

thored givien 100s 50 the order
“ N - - N‘ -

'ln\'. X {tl

Stateenent |

Inth 1 s positive sol. the floceulating
POver of the thr versals 1 i the order

! | > Na S Na, O,
T i1t of the abave stahemmmie, chioose tha maost

ppropriate an from the PGS Siven bwdon
M Statement | s rect but Statement 1
‘ et

@B Statement | s incorrocEbug Statesnent 115

.{5) Hoth Sta
(hy

St tegment 11 are corvoct
Statement Il are

tement | as

Matement |

tical iquation for

Dalton f part *Here p= total
pressur is 0
m f ’ [ prossure of

1ole fractionof i
yas i AsoOns
M
B - | where g = mole lracionor™
paS AN gaseous sk

essute (PRI
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Which statement
not correct 7

regarding  polymers

1) Ihermpplastic polymers are capable of
fepeatedly softoning and hardoming on
heating and cooling res pectivoly

(2} Thormosetting polyivers atv reosable

3)  Elastomers have podyvines chalis held together
by ek intermolecular forces

(4) Fibery possess hagh tensile strength

Amongst the following which ane will have

lone pair lone poait’ electron
F |

£14 X T
repulsions !

{1y S¥§,;
2} XeF,
3 CIF
4 15

Identity the incorrect statomont froa the tollowing
n Iz'nuulu'n-ﬂlh.lllw Oof alhali motals docrmasies

from top 16 bottam In the group

21 Lithiierm o thy Strongest reducmg, gt among
the alkali motals

3) Alkali metals react with water to form thoir
Ay droncides

) The oaddation number of K in KO- s + ]

Given below ant two stuts ments
Statement I:
The bodling poanss of the tollowing hydrides of group
16 eloments increases in the ordor -

HyO <HS < H5 < HyTe
Statement I1;
The bailing pounts of these hydndes mervase with
merease in molar mass
Inthe lighst of the above statements, choose the manst
sppropriate answor from the optang given below

(1) Statement [ & correct but Statement 1
Indarrect

() Statement | ks incormect but Statement I i
correct

(% BothStatement I and Statement I are corppd

(1) Both Sratement 1 and Statement 1l are

Incoerect

ll :: JUPAC mame of an hemnomt with atomic numbes
-]

i }_; RLALRI ARTREEITITS
(2 ununectivm

3y u nunenniym
(. unnilennium

4)

59,

&),

i nits
pelow A twuﬂ;\h‘m.
a/l

o
GIve 1
Gratement |

thot ll\i‘(‘.’.“ﬂlt".ll’[.r“' Nitrie
y - o . :
e ac l;b\ ‘-?:IM’" '_,hu'ﬂ"’ because Cel
1% highet : 4
" ;ﬂul;nuul,: nitro group
Statement 113
trophenol m-pitroplwnol and ) Aitropheny

: o aol, .
b e 'ln'l' ac bl '.llv‘l'.ﬂﬂ; as they have i3
ave M ¥ o ‘ : Y

P sttached to the phenolic ring
RN as
Iy thwe ligghst o th above statements, choose thy .
appropriate answers from the options givey |
1) Sratement 115 correct bul Statemeny |

incorrect
@ Statement I s incorrect but Statemen)
correct -

“‘] Hoth Statement | atsd Statement 1
(@) Both Statement | and Statement ||

incorrect

Which amomgpst the fOllowing s incormect sty

(1) I3 lon has one electron 63
(2} 0F jon s dinmagnet
31 The bond orders of O2 O-. 07 and |
Are2s 21 5and 1, ospe Heely
%) C molecule hns four el rons in it ¢
degenerate = molecular o g

Which compound amongst the . ¢ 15 notd

Aromatic compound ?

\,.——",

()



"1y

G

\\‘]“
!tyu

Oy
I‘\

62

63,

Given below nre half coll e o |

M-BO; CEH <58 < Mty 1 H,0

\‘.n"' -'\'I.‘u = - ' 5“.' \

4
Ga+2H 420" who

"

M= =

Hg g = #1200y

Will the permangasate on, MO liteerate O, from
Wikler In the presence of an acid 7 j

hH Yes, bocaise o= +2733V
(2] No tecause £ = <2737y
3) Yes becauso K, = + 10257 V

(4) No.because B, = ~0287V

The TUPAC navene of the complex

1AR(HLO) [ Ag{TN),] is

(1) dicyanidosiiver(l) diaguaargeatate|l)
A7) diaquasilves(l) dicyamudoargemate(t)

vuk ~

3 dicyancdestiver(ll) dinquaargentate1l)

_'tu dlacuasitver{ll) deyanicdonrgentse(ll) _

w .
‘\ >

Gaven bolow are two stateausnts -

Statement 1 :

Prumary aliphatic amines react with HNCG, to
wetable diszonium salts.

Statement 11

Primary aromatic apunes react with NGO, to o
dinzonium salts which are stable oven above 30

Lt the Light of the sbove statiments, choose the m-

appropriate ansswer from the aptions given belo..

(1) Statement | s correct but Statement n
ot

(2)  Statement | & incortect but Statement 1)
correct

() BothStatement Land Statermend [Fare core

(4) Both Statement | and Statement 11 ar
meorrst

Which of the following statement is not cormect abor!

diborarne?

(13 The four terminal Hydrogen atonss and 1)
two Boron atoms L in ane glane.

(2)  Both the Boron dtoms are sp hybridined.
) Therearetwo centro-2-eloctron bonds,

(4) The four teenyinal 1111 bonds At B centr.

two electron bonds

65,

Match List « T with List < IE
List-1 List-11

[Reaction of carbonyl
compound with)

|Products foemed)

(n) Cyanohydrin {4 NHLOH
(Y Acetal () RBNH,
{c) SChill's base (L84) .ﬂu)l\.‘-"
(1))  imnn v} HON

L hoose the corveet anawer from U optaans given
b low -

(1) ()« (00, (D)= Chn), (6] = (o) () - (w)

(4] (a) < (), () - (1), (o) < (i), () - o)
(31 )4, () -G ()= ok (d) « [}

() Cad =Ly hhad, (e« dava, (02 - (1)

Choose the correct Stabement

(1)  Diamond & g hybridised and graphite is
i hyhridized

1 Both diamond and graphite are used as dry
lubricints

31 Dramcsd and graphite have two dimensionad
notwork

Diamorst is covalent and graphite i jomic

v pHof the solution containing 50 mi esch of
Moo acetabs and D01 Macete and s
[Civen pRg ofCHCOO = &57]
5

wdal has a low value of third walsation
nthalpy becaSeng

| « ERONeEALIVISy
11 e

o enthalpy

muol |0 rom thik contadns (15 male of &
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Grven below are two statemonts
Satement |

The bolling poits of aldehydes and ketones are
Nigher than hydrocarhons of comparable moloca b
masses because of woak malocular association in
aldehydes and ketones due to dipole - dipole
mteractions

Statement 11:

Fhe boding pointx of aldetiydes and kotones ate
bowes than the alcpdvols of stnibar molecular masses
due to the absence of H-bondang

1oy thee dight of thee above statempnsts, choose th most
appropeiate anwwes from the optionm given bolow

(1 Statement 1 s correct but Statement 11 19
incornect

2 Statement 1 is mncorrect but Statement 11 .
correxct

() BothStaterneat [ and Statement 1 are correct

{4) Hoth Statement I and Statement 1) are

incormact

Ar268 '5' the standard olectrods: potentaalsof Oy
Lo, Za=" /Za, Fed* /P and Agt fAgarc 0.3 V
“~D78 Y, <044 Vand 080V respectively,

On the basis of standard eloctyods patential, predict
which of the following reaction can not cccur 2

(1) B0 (ag) + Znix) s ZaX ) ((aq) + Fefs)

(2 2CuSO (aq) + 2Ag(s) ACWS) = A5 ()
3] CuSOaq) + Zn(s) - L850, (aq) + Cuds)
) CuSO Jag) + Fofs) — FeS0 Jag) + Culy)
Match List -1 with List- 11

List-| List-T1
&) i ()  absorbentforcarbon dioxide
M  Na (1) electrochemical cells
(& KOH (i)  coatant o fast breeder reactoe
) O () photoedoctric celi

Chouvse the correct answer from the oplions given
beday £

M) -G, (b - (i, () - V). (d) - ()
(2} () =), (b el ey o), (d) ()
(3 (@)= v (b= (i), () - iy, () - )
) ta) - i), (b) « fiv ()= i, (hy- (i)

L

74

76

ot 1L
a (s tch Lint = pwath L

Lise. g
[:b"l '

ll)rU'_rn np
Il”fuv_clo\sﬁl & Maloeyy,

() Salvarsan

(a) Anticids

L antihstamines () Morephin,
i (i) Cimetidip,
) \,ulxv—ms

&

1) A nttmicrolnals ()  ==ldang
10 y
Choose the comect answes from the Oprtson, B
belaw
(1Y (a0 Ab) = (v (e « L), dek) (i)

(@ () -thv) (o)~ (i), (eh ~ (1) {d)- (i)

) ()~ (aiih, (b) - ik AC) - (ov) (dy-(i)

4 (i)« (i), (by=fivy (<l ok (d) - ()

) dry {0y 4

R'\'":\ ¢ OOy - cthey > * BUOOH
What 15 Y in the above reaction ?

1) RCOO™X*

(2 (RECOO)Mg

(3 RCOO-"Mg'X

@ RLO MgtX

Given below are two statements . one (s labolled

Assertion (A} and the other is Tnbelled as Reiso
(R)

Assertion (A): 1C] ks more reactive than L
Reason (R} : 1-Cl bond is weaker than L1 band
Inthe light of the above statements, choose the met
appropriate anawer from the options giver below

1)) (J\)L\(ﬂ(lu.fhlll“(llﬂf\'!\-.vﬂ(".l

(2)  (A)ssnotcorrect Dut{R) 15 correct

() Both (A) and (R) ure correct and {R) 1 the
SUErect explanation of (A)

() Both (A) and {R) are correct but (R) s

arrect explanation of (A)

The incorrect Mitemont rogarding chirnlity
{1

Enantiomers are superimposable o1
ages on each othet

@ A FACemic mixture shows zero ot
ratation.

B). S\ reaction vields 1 : 1 mixture of
ehantiomers

@ The product obtained by 5.2 reacty

hakmb,m\\_. having chirality &t the reacts
Shows inversion of configuration,

™
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8.

7.

Match List <1 with List - IL
List. ] List-11
{Hydrides) (Nature)
(n)  MgH, ] Electron precise
() Geld, () Electron dedicent
() BaH, (i) Electson rich
() HF (v} Toox

Choose the correct answer from the op
bolow

(8) (&) (), (b) - (), () - (ev), ()~ (aii)
2 Am) (), (b)Y~ (Hha), ()~ (av), (d) = (1)
() {a)- 0 () - (), do) - L, {ed) « {iia)
4 fal= (), (B) -G {c) « (ad), ()= (1)

s given

The incorrect statement regarding enzym -

{1) Enaymesare polysaccharides,

{2) Enzymes are very specitic for a partiouar
rmeaction and substrate
(3)  Engymes are bocatalysts:

Like chemical catalysts enzymes feo
activation enwergy of bio progesses.

o4

Which of the following p-¥V curve seprooot
maximum work doae 7

lscthermal

m r
——

- Lrothermal

=

:o(hmml
N\

N\
{_,V_,_

Inethermal

#

1n

B

LY B
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Given bedow are two statements S ope 15 labelled as
Assertion (A) and the other 1s Labelled as Reason
(R)
Assertion (A)
In & particular point defect, an jonic solid 15

electncally noutral, evert of fow ol its cabions are

prissang froen iy unit cully
Reason (R)

I an lonic solid, Frenkel defect

dislocation of cation from ity lattce site 0 inberstitial

arises due o

siter, maintaimanyg overall electrical noutrality

In the light of the above stadements, choose the most
appmpri.nc answer from the options given below
h
(2) (A)isnotcorrect but (R) is correct

(A) 18 correct but (R) 15 not correct

{3) Both (A} and (R) are correct and (R) is thy
correctexplanation of {A)
(4} Poth {A) ancd (R) are correct but (R) 15 not the

correct oxplanation of {A)
The KeddohI's method for the estimation of naroges

can be used to estimate the imsount of mitragen ir
which one of tw following compounds 7

NI,

‘ollewing i wultable 1 synthesze

S

3
+ HCY, Heating

nhydroas FelCl,
HEL CaCl
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B3.  The given graph is a representation of kinetics of &

: Constant temperature T

‘l'beymﬁmfovmmd first ordes reactions,
ré-p«tmtynw

(M
@
(3
o

zero order (y=rale and x = concentration),

mmu-l\.mdxscmmmum\)

zero orster {y = rate and x = concentration),
finst order {y =rateand 1 =t )

2610 order (y=concontration and 1= time),
Mirstorder (y <1, and 3 = concentration)
zero order (i = concentration and 1 = time),
first order (v=rate constant and
J-W

. Mhmwmtbmﬂwfnn«mw

- Inanatom, all the five 3 orbitals arv equal in

energy in free state.
'ﬂledupmof
similar to each
mmﬂchu:hm
All the five 5d orbitals are different in size
uhnmpmdb&empumuwm

d,,.andd orbitals are

ass d’!‘mmwuwm,

m| osmmmmmmm.

sand da_ 3 and da

87,

Com

O pives

red b I-ﬂ 3
caction with O, followed by Zxn
!:::l'de}tyde and 2-methyl propanal ay

products Thcccmpo“""x"‘

i
2}
3

@)

2-Methylbut-2-enc
Pent-2ene
3. Muthyfbut-1-ene

z.Mﬁhy!buMm

Which ane of the following s not formed when
acetone reacts with 2-pentanone in the presence of
dilute NaOH followed by heating 7




CZOT
hydrocarbory

hydrogen

: s gven below
by, (c), {cd} omdy
{a), {c), (d)only
{in), () onty
(o), (), (d} only

e product formed from the fol

JuENCce s
N (j) LIATH, HO
{il) NaNO, + HCT
i) H,O
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100,

100

102

103,

T
&_\ s = "\ b

S & AL o 14

e

IEradius of second Boha arbit of the He * fon s 105.8

pm, what is the radius of third Bokr orbit of Li¢*

W !

(1) 1587 pmy

(3 1587A

(3) 1587 pm

(3) 15,67 pm

In tho ruateal or faintly alkakine medivm, KMivO,
excidses sodide into sodate. Thechange In oxidation
state of manganaese In this reaction i from

H +7to+3

(2 +Hto=3

(3 s 710+ 4

(1) satod

Copper crystallises in foc unit coll with cell edge
length of 3608 % 10 "o The density of copper i5
892 gem 7, Calculate the atomic mass of copper
(1 60w

(2} 451
0 &lu
(4) 31355u

A 100 L flask contains &4 g of oxygon at 27°C
{Assume O, gas is behaving wdeally) The pressure
insade the flask in bar o

{Grven R = 00831 L bar K~ " mol — 1)

(1) 498
2 49 £ S
@ 25 N
(4 4986
Section - A (Biology : Botany)

"Girdling Experimest” was performed by Plant
Physiologists to identify the plant tasue through
which

(1) for both water and food transportation

() osmosis is observed

&)
)

Water is transported
foud i transported

What ds the et gain of ATP when each molocule of

glucose & converted to two molecules of Pyruvic

acyd !

(1 Two

(2  Eigh

(H  Four

(1) Six

What amount of energy
during lactic acid fmnmt:ﬁumll\e’;nd St g
1 Aboution

2) Less than 7%,

(3)  Approximately 15
4)  More than 18%,

&e o w
r)u-’.ﬁ > :
104, XO type of sex determination can be found n 110.
("~ Grasshoppers
(2) Monkeys ¢
(% Drasaphida
(4 Birds
105.  Which of the following s ing orrectly matched !
(1) Porpliyra - Floridian Starc h
12) Valpox - Starch
(3)  Ectocrpus - Fucoxanthin
4) Llothrir « Mannitol
106. Identify the incorrect statement related o
I"ollination
1) Flowers produce foul odours 1o attract flies
and beetles to get pollinated
(2) Moths and butterfles are the most dominang 1L
pollinating agents among insects
(3)  Pollination by wator is quite rare in Howenny
plants
#)  Pollination by wind is mone common amon gt
abiotic pollinatian
107, Given Below are two statements 112
Statement 1 :
Mendel studied seven pairs of contrasting trajis in
pea plants and proposed the Laws of Inheritance
Statement 11:
Seven characters examined by Mendel (n his
experiment on pea plants were seed shape and
colouy, flower colour, pod shape and colour, flowes
pasition and stem height
In the light of the above statements, choose Hie correct 11
answer from the options grven below
_/(l-}" Statement | is correct but Statement 11 is
incorrect
(2} Statement I is incorrect bat Statement 11 »
correct
(3)  BothStatement 1 and Statement 11 are correct 1
(4)  Both Statement 1 and Statement Il are
incorrect
108,  Which one of the following plants does not show

plasticity 7

(1) Buttercup

(&) Maizo

3 Cotton

) Corander

109, Exoskeleton of arthropods is com posed of

4 Chtin

(2} Glucosamine

(3}  Cutin

(4)  Cellulose




/ n)
110, Given "é%;
’ wz"“mtw : v ..‘\\ ' \/V;"'_ ¥ i %
D“ompo; st 0 4" ) Al b ‘
i L : 1 ,,1‘1'\ )
: Mmm:v:t:‘; ‘% 5 \5 s
Statement m : 11
- .M “"snb,,‘:;‘hmodcm g _5* Which on
chitin s fast by lnx,,,mmsis -~ regard o of the foll 52
mﬁwu‘h if the dotri {1 ing; gel el owing stateme )
wer f,;::wahov' fus s rich 1 ml’msrmmmmn techn nt is not (e
B - s"'ma""sm:"""“" v @ ::r‘:m'"“f:do:): S‘W:U:;
choose i
to ~ @ Incorrect AN oo?r::tnbém the correct hb.‘.h‘tor"ngo A hands on the trate §IVES
8 bu : vd coloured ?el
tatement t Sta &) in the b
o3 4 o) correct I S tement 11 The proces: P“J“hen,.nd‘ o DN can be
(@) B°“‘.smmm but§ 1 A strands (m“‘ xtrac xposed to UV 1
Both S Yo L RBIES 4y The m tan of sepa ght.
it m‘:‘me’“ 1 Statemmwent T uui’\:‘:\‘;{.th‘ -”\‘ndfluhu“nm D\,A
Habita and 5t Il are correct 116. Whi i b “‘agm,mb-
n adien ¢ loss and atem hich o ommiele are stain
v for; species in fragmentatin g m""“fcga.'," fhe (ol ' o4y
A y: Tl =
st fmf.mummcwmmr(m v n) Padri o 1 g fuever oc
) e @ 0 gy o oo curs dur
| oA N ity Joss are o Coiling L g
#) Com expl 'dmmdh"”h I.”\m""du‘. iz
. Which m mll o1 / 4 M QoS o 0 kit chromatids
in mmdh - gvement wtachor :
mﬁ:gwhun:""“ﬂm 17 s 1% to i
s riot . Wh ward:
| pe Mmm;‘l:m ATP shuc“-'s"d“‘ Cohxhof“"l B Opposste
= hthg d fves ; ynm““ th 8“‘9 “’m.ﬁnﬂ ""H‘,.', N IS T
d st m'l m'lﬂ ' rs not g
: Reduction 5 across the 25 L 1 method of ex
T ) ’mﬂ'dco‘ NADP Mhrﬂw (‘3 Cwl‘ ! agation witu
? Mmdﬂ*. F to NAD ) ’Wu;‘m,"“\'""'l»
1 mem PH, o b
3. o oo RS the (4)  Natio ertilization
113. Whichone of dwﬁ‘“""‘: * | 138, The National arks z
- mmuﬂ!::w gradient s L -
. : bof "m 0) o wth reeul
; i.dﬂw Alnus 2, ""ng help o gulator s used
“‘, at?mm“m At ﬁxﬁg g u;‘:;w,-:.,,“'. By i used i plants
I - “m wotyledo R
. an‘ . (‘) m‘l up 'l' NOUS weeds
: mﬁ - Inte pron malting in the hie
fa) The correct set of "’ln.t = ; DrOCess s
e ¢ lgdkumm‘“w 119. The reas ||A,._\,~M_.f:"l’x A roothair f
9} AM"‘CW h $ AN phion-suriac i TrARIT
4 S m awwwmd c:;?o oR'_I.\ oo “»‘“,v‘ .
il mhmm'm‘“'sp:ﬂ (1, et 71 SREES
bﬂ‘ = v e, dules On
;w, mm; M‘uﬁwkn‘ ). M a’ 1l at whisch ¢ g m 10%1%
v perform the y in Opuntia erminaliz rOSSINg ove
e o N
zm,,y':;aam,m‘:f:’ud?::m (S % ;,;‘ e
awberry he wing stems rrespiration 120. l'todu
‘ .. uc 'Pinwmgms ctiom of €
low roct answer from wl::omm m‘" l" ;""‘h e o
‘ .; )'(d)‘M(O)m P s‘ve“ m h [II‘ s has (.,”””‘ Iw |\|.};]lt‘v‘1'~' ranadold in
\ ! (d)"ﬂ{e) y hm VI 1S Kby s:il . "'”n.,:,l"‘:’_.l; lowing
‘m Ly tokxam
: |
B
N ”ll;

(') "‘" (d)only




122

123,

Civen below are bwo stalumeivs

Statement ) -
Chenstogamons Flonwers are invariabiy autofnmod
Statement 11

Clelstopamy is disadvantapeous a8 there % 4
chance for cross pollination

In the bght of the abonve statommenits, chocose (e correst
arswer from the options givens beknw

Statement I is correct but Statemsent I 15

{n
ICarect
) Statemnent | is incorrect bit Statement 11 is
oyt
37 Both Statement | and Statement I arecorrect
) Both Statement | and Statement 11 are

meaenx!

Read the following stasemvents about the vascular

bundles

W) Inoroots, avlem and phloem in o vascular
bandle are arranged (0 an altecrate mannes
alomg the dtferent radii

{0 Tomjoint chosed vascular bundles do not
pasaess cambdium

) Inopen vascular bandlos, cambiom is presont
0 betwoun x¥lem and phloem

) he vascolar bundlos of dicoty ledonows stem
rassess endarch protoxy lem

(=) In manocoty Msdonous root, usually there are

more than six xvlom bundles present
Choose the correct answer from the Opbons givon

bedow

1) (&) (b) (c}and (d) Only
2 fa), () (d)y and (o) Only
)] {a) {B)and (d) Only

4) (b)) (e (dhand (o] Ondy

In ol tyews the greater part of secondary xylem is
dark brown and resistant 1o insect attack dac to

() secretion of secondiary medabolities and theis
deposition in the lumen of vessels

(b deposition of organic compounds like tanning
andd sesins i the central layers of stem

) deposition of suberin and aromatic
Sibstances in the outer Layor of stem

(4l deposition of tannins, gum, resin and
Aromatic substances in the poriphezal layers
f Mem

(=)

prosotce of parenchiyma cells, functionally
active xyles elements amd essontial oils
Choose the correct answer from the o

Phons wven

below

() (d) and u')(\'\])
(2)  (b)and [d)Only
i3 (a)and {b)Culy
#)  (c)and (d)Only

126,

125,

{ carrageen is obtamed from

ll\-"“ ollok

13 I\'inn.:ul\h\u'.u'nnl\ 130. |
e s ML 'lll\ ‘9!1
2) Pl h‘l"‘l'\‘ cde :

;‘:‘ Chlorophve 'ﬂ""“";E'\{JI"""“'I‘:“‘ o i :v
’ ‘.‘ i'hm'-"["‘\‘ pae and Ehodophy e t:“‘

Which one of the ln-ll«n'..'n.g statements caneyy . v
COTINN ted O Predation -
() Hoth the MICTACHNG SPOCies aze gy, h

fm s 4nd \
)] I b mecessitated by nature W maintain " ANt

.\\-L..;.;n'.ll halance a
/4y Ithelps i mamntalning species diveryiy i,

‘ cammunity @
gy [teight lead o EXE0CEON OF & Species

.

ONA rulunur;-hl'-m forms tho basis of u;.'l

(1) Both genetic Mapping and DNA fippo, ‘
printing

(2) Translation B s

) Geretic mapping :

1) DNA finger pnnting ‘

The Howers are Zygomorpind i ;
(n) Mustard '
(I  Gulmohar
«) Cassn l
() [uture |
(o) Chilly
Choeose the comrect answer from the optices give
below
(1 ()i {e) Only
(2) () (d), (o)< )ﬂlf,

(3} An)Ab), () Ondy

(2} (B} (c)Only

The process of translation of mRNA to prote

b 132,

(1) Both the subunits yin b sethoer to bind wit
mENA

2) The tRNA is activated ard the larper sulurnd
of lll\'\klrnp.-."t otnters mENA

(&) the small subunit of nbasome encours!
mRNA

) The larger subunit of ribosome endourbes
mRNA

Which of the following & not observed duniy
Apoplastic pathway 7

(m he movement 15 added by ovtoplasmi
Stresuming

@ Apaplast is continuous and does ot provid?
any barrior to water movement

5 ‘M"\'-'mrnl of water occurs throvd

g intercellular spaces and wall of the cells

) e movement does not involve crossilip©

el membrane
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» Given bedow are two statemonts :
Sratement |
The primary CO, aceeptor in €y planis
phosphoenclpyruvate and is found n the
mesophyll cells
Statemvent 111
Mesophyll cells of C; planta lack RuBist o enayme.

n the light of the above statements, chocse the correct
answer from the optians given below

(1) Statement I is correct but Statement 11 is
ncorect

2 Statement | is mcorrect bat Statement I
correct

(Y Hoth Statement §and Statement Tl are carrect

) Both Statement | and Statement 1 are

mncorrect

Tt the following statementy and chiose the set of
gorrect statements

{a) Euchromatin i loosely packed chromatin

() Heterochromatinis ranscoptionally active

e} Histone octoayer is wrappesd by negatively
charged DNA in nuckosome

¥}  Histones are cich in lysine and arginine

fe} A typical nuclecsome contains 400 bp of
DNA helix

Chonse the correct answer from the optons gven

below

M () Only

@ (@) fc) (&) Only

3) () (d). (e)Only
(a), {c). {d) Oy

b

12 Mateh List 1 with List - 1)

List-1 List- 11

)  Manganese () Activates the enzyme
catalase

()  Magnesium (i) Required for pollon
gmmmihm\

(&) Boren {lii} Activates enzymes of
respraration

@  Tron (iv) Functions in splitting of
water during
phuhsyntbesis

Choose the correct answer fom the options given
e

P

() - (v, (B3 - {0). (e} (i), () - (uid)
o) - {140, {b) - (). (e - (it (q), ()
{a) - (i), (b)-1iv). ) (1), () - (i)

13%

135,

135,

156

1) ()~ (o), () - i), () (- (1

137,

52

The device wiich can remove particulate matter
present in the exhaust from & thermal power plant

[ - 2

(1) Electrostatic Precipitator
2) Catalvtic Convertor

() SIP

) Incrneraton

Given below are twa statements  ane I8 laballed as
Assortion (A) and the other is |1 halled as Reason
()

Assertion (A):

Polymerase chain reaction
amplification

Reason (R)

The ampiciliin cesistant geaw
markes to check transformati

T the ligght oof the aboye sEaten-
answeor from the options giv o b
(1) (A)smm\*lhm(l) {s not correct
P4} 1A)unm\'nnu:(lmln:{; is correct
(3 Both (A) and (R} ar rroct
carrect c.iplan.\wn A
Poth (A and (R} are corroct
correctexplanation of (A)

cued In DNA

v 8 selectable

10w s fhe coerect

(1)

Which tine of th fallotwin: plants shiws vexillary
aestivation and diadelphous stamens !

(1) Al ey
)
B/
()

Sureua ngran
Caolcfriciom gt
Pliseapn sationim

Section - B (Biology 1 Botany)

I tho following palindromic bas
DNAL whlchn(\‘e- ¢ o sily ™ :,-.u!xu‘m

restrichon enaymie |

) EOEEA. 1Y YGAGTCA

RG] (. Y CATAAGD

@ FGARRACTS YCOTA FGA

) SRR Y YOTTAAG

mel‘ﬁmm:"‘l" 1 I lh were cor | 1

(-chmm derence 10 this, whx [

the folloswingsta o ments is false

(1) Ipssehenpor than diesel

(2 IBERNmO: e adulterated [ike div l

) ENGbu s more efticrently than Gles

) RReEArc Jiesel engine 1 used NI
Ak, st ol conver )
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138, Which Part of the truit, labetled in the give? B

makes it & fakse frufl ?
C
D
A
(1 C < Thalamus
(2) D-=Seed

3) A = Mesocarp
@) B Endocarp

139, Addition of mote solites in a given solution will
(1) mako its water potential zero
(2)  notaffect the water patential atall
(3)  raselts water potential
) lowerits water potential

140. Match the plant with the kind of life cycle it
exhibyits :
List-1

(a) Spirogyes (i)

List- 11

Daminant diploid spotophyte

vascular plant, with highly

reduced male or female

gametophyte

(1) Dominant hapiokd free-living
gametophyte

(#i5} Dominant diploid sporophyte
alternuting with reduced
gametophyte called prothallies

(iv) Dominant haploid leaty
gametophyte alternating with
partiaily dependent
multiceflular sporophyte

Choose the correct answer from the options given

below :

(1) ()l (b}« ), (e} G () - i)

) (a)- (i) (B)  {iv). (c) - (i), () - (i)

B) () 0v) () ), ) - (14, () - i)

4 () < (10, (b) - ), ) - (i), () - (i)

While explaini

) Fem

(¢} Fumara

() Cyomn

14L ng interspecific interaction of

population, (+) sign is assigned for beneficial
intesaction. (- ) sign fs assigned for detrimental

et )or tralinteraction. Which of

18

142,

143

144

’ y WS & - )
anatomy of springw ood shows som; Pecuj g8, M8

fl::t'unw Identify the correct set of stalemengy by, :::l
f‘l’”""-;: (L:‘.:'lsu called as the earlywood e
(%) In spring season cambium producey ., (1)
™ c';..:,‘-l.,m with narrow vessels
() It is lighter in« olour 2)
! he -,pnngv-m)d .tlol?y, with autunin .., -
shiows alternate CONCentrc rings [ Tn;
annual rings @)
(«) 1t has lower density
Choose the correct answer from the opliong vy o
below 146. :
(1) (a) (b)and (d) Only P
@ (c)(d)and(e) Only (1
@) {a) (b), (d)and (&) Only o
(4) (&) (c) (dyand () Only :
Read the following statements on Ipids and f @
oul correct set of statements @
(a)  Lecithin found in the plasma membrane |
glycolipid 2
() Saturated fatty acids possess one or moe 147. 5
¢ =c bonds
) Gingely otl has lower melting point, hee (1
remains as ol in winter .
() Lipids are generally insoluble in water b (;
soluble in some organic solvents ¢
(€  When fatty acid is esterified with glycen
monoglycerides are formed {
gl‘;oux‘ the correct answer from the options give
low -
(1) (C), (d) and (L‘) Un]_\ 148, :q
#2)  {(a), () and {) only

#3)  (a), (brand (cyonly ':

@ (&) (d)and (&) only

Given'below are two statements one (s labellod
&jsmion {A) and the other is labelled s Reasor

Assertion (A):

Mel:l\del's law of Independent assortment does 0f
£00d for the Benes that are located closely f
the same chromosome.

Reason ()
('lune!y located genes assort independently 149,
Inthe light of the above statements, choose the coret!
Alnswer lrgm the optiong given below
:2; (A) W correct but (R} is not cormect
o (3::: nAo! cotrect but (R) is correct

cOrrec‘g } and (R} are correct and (R) i ¢
o Ae*thbon of (A)

core AV and (R) are corpect but (R) is not £

rect explanation of (A)

>
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. . Transposons can be wsed during which ane of the

19

iclst wses the blind spproach for sequencing
whole genome of an organism, fallowed by
t of function to difforent segments, the

methodology adopted by him is calked as
(1) Expresed sequence ags

] Bioinformatics

£ Sequence annotation

() Genemapping

'S which one of the following will accelorate

phosphorus cycle 7

n Weathering of rocks
@ Rainfall and storms
@  Burning of fossil fuels

Volcanic activity

0}

 following ?
Mm Autoradwgraphy
@ Genesequencing
(3 Polymerase Chain Reactson
{4 Genesilencing

. Whatis the role of large bundie shealth cells found
around the vascular bundles in C, plants ?

o

To enable the plant to tolerate high
fermperaturne

To protect the vascular tissue from high Tight
intensity

To provide the site for photorespiratory
pathway

To increase the numbes of chloroplast for the
gperation of € alvincycle

; thﬁoﬂhelolhwmgocwxsduzmthe presence
-ﬁﬁnhsom!lmkeddomimnttmh?

i

Sickle cell anachua

150, Match List~ I with List-11

List -1 List-11
(&) Metacentnc (1) Crmmnwu-.-smmu\ltlm‘-t‘
chromosome to the end forming one
extremely short and one
very long arms
(b Acrocentric (i) Centromerne at the terminal
chrommosome erd
(c) Sub- (1) Centromene in the middle
a1 forming two equal arms of
chromosomes
() Telocen:: (lv} Centromere slightly away
chromo: fromm Uwrmaddle forming
onve shorter arm and one
kongor anm
Choose the corroct aiSWer from the optins given
below
L) (). (D) - () (c) - tiv). (d3- (1)
SRR (). (1) - (e (¢ }o iy, (d) - (iv)
,m )~ (i), (b) - Lo ) -ie)Ad) - (1)
R - (). (1) - (i), (<) BN

Section - A (Blology : Zoology)

151, Sedect fhe incorrect Stateini nt with reference to
mtomas:

B Ehrom:
RSP |itting of cet

%) ALl Ll

me '-‘|':|.1~-

Sr-u lo fibees attach to ce
B0

condense

L tofoplisse
r+ ot anaphase, |

SOIMEes | ;S
tromer
chromosomes he at 1]

fquah.;n' at
romEens ak

(4

W 1S Al !:l‘l,l”
d as Reasam

132. Givenbelow are twostatenis
Asserion (A) nd the o
Ry \

m:\{\‘

Ostipor o i chara
mass and nereased chances of frac
Reason (1)

B ... ci oeteoporosis s
ofestroy;

u‘“_h:'.!‘t o the abos
Inm‘l'ijl- AT W
BRI i+ correct bt {R) i ot correct
@‘;f [A) &= not correct

M'.’ Hoth (A) and (R) are correct i {R) 15 1o

vplanation o (A)
®

statemients, on e the most

m i .\.»H.‘_u N n bedow

st AR ) 15 cormect

e
rrect but (R) & not 1

Hoth (A} and (R) ares
arrect explanation f(A)

~ Myotonic dystropty
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153,

154,

156,

157,

20

wtnfes
: . ooy rliacese modectt
\ debiydration reaction links two g ghucose 15

0 procisce maltose, If the N‘""u“f‘ 0
CaH 0, then what is the farnvula for M

M CyHL0,

altose

Q) CHy0,
3 CaHaOn
4 CoHyO);
Which of the following .,mh-mcnh ame true
for spermatogencsis but do not hold true for
Cogenesis "
@ 1t resalts in the formation ot h"fk"d gametas

@ Differentiation af g.mh‘ll' pocurs atter the

completion of messis
«) Metosts occurs continuorsiy in @ mat
dividing stem cell popalation

ohic mliy

sy It controlled by the Luteinmeng hormont

{131y and Folbcle Stimulating Hormutwe (F5H)
secroted by the anterior pihwilary

fe)  Itissmitated at puberty

Choose the most appropriate answer from tw

ophions given below 3

(1) {bL{dand [e)only |

(@) {b), (c)and (e)only

(3 {)and (e)only

(4) (b)and(chonly

1n which of the following amimals, digestive tract
has additional chambers like crop and gizzard ?

(1)) Cathe Columb, Croosdifus
Y Mw, Psithicwla, Corors
{3)  Corvus, Cotimby, Charesieon

(4) i, Balaerayriern Baugaries

Regarding Meiosis, which of the statements is
incorrect ”

(1) Patrang of homologous chromosomes and
recombination occurs in Meinsis-l

(2] Four haploid cells are formed at the end of

Mudosss-11

) There are two stages in Meiosis, Metosis-1
and 11

)  DNA replication occurs in S phase of
Melosis-TI

Which of the following is present between the
adjacent bones of the vertebral column 7

(1) Arcolar tissue

(2)  Smwoth ssche

(1) Intercalated discs

(4) Carhilage

A

158,  Nitmpenous waste is excreled in the form of pelle

or paste by
(n Hippocampus
(2) ae
3) Orpitis vn.‘uuu'nn
4 Salamandrd
159. Identily the mMICTOOTEHAISIN W hich i resporsibie fe
the production of an IMImUNasuppressive mokecul

cyelosporin A

(1) Aspvrgilius niges

(2) Care IO NOETAS CEreDas i
&) Feschodermu palysporum
1) Clostridaem bactyliciom

160,  Given below are two statements © one 15 Tnbelled &
Assertion (A) and the other is labelied as Reasos
(R)

Assertion (A):

All vertebrates are < hordates but all chordates an

ol vortetrates

Reason (R):

Notochord is replaced by vertebral colummn i the

adult vertebrates,

[ the light of the above statements, choose the mosl

appropriate answer from Lhe aptions given below

(r (A} Is correct but (R) i5 not correct

(2} (A) is not correct but (R) is correct

R Both (A) and (R) are correct and (R) 15 the
correct explanation of (A)

4y Both (A)and (R) are correct but {R) 55 not the
correct explanation of (A)

161. Identify the asexual reproductive structure
associated with Pepiciiliim
(1) Gemmules
(2} Buds

(3 Zoospores
Xﬂ' Conidia

162, Given below are two statements

Statement [ :

Autoimmune disorder is a condition where body

defense mechanism recognizes its own cells as

foreign bodies.

Statement 11 :

Rlyeumatokd arthritis i a condstion where body does

not attack self cells

In the lightof the above statements, choose the most

approgniate answer from the options @iven below
Statement | 1s correct but Statement 11 s
ncorrect

(2)  Statement | s incormect but Statement 11
currect

3) Both Statement [ and Statement 1] are CORTIC

(4)  Both Statement T and Statement 1y 4,
mncorrect

163 "

. e, e ey &

164,

166.
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1f the Jength of 2 DNA mobecube is 1.1 metres, what

will be the approximate number of base patrs 7

(1) 33x10°bp

{2) b6 = 1" [\p

@ 33x10%bp

(4) 66%10%bp

Which of the followmny & a correct match for disease

and its svimptoms ?

(1) Mpyasthenin gravis - Genetic disorder
resulting (n weakening and paralysis of
skoletal muscle

{2} .‘Jusr:ulat dystrophy - An auto immune
disordes causing progressive degeneration of
skeletal muscle

M Arthnibs - Inflammed jomts

(#) Tetany - high Ca®* Jevel causing rapid
SPASTNE

fr-sthu conservation refers to;

(1} Comserve only endangered species

(2} Conserve only extinct species

3y Protectand conserve the whole ecosystem
(4) Conserve only high risk species

Given below are two stateawents:

Statement I:

Ihe release of sperins into the seminiferous tubules
i called spermiation

Statement I1:

Spermmiogeness is the process of formaton of sperns
from spermatogonia.

In the hight of theabowzshmﬁ.dwqwd\ew
appropﬂ&leamwcrfm thcopﬁumngmbeCth
Statement | is correct but Statement 11 is

52
168, Liven below are two statements |

Statement 13

Restriction endonucieases recognise Spet ife
sequence 10 cut DNA known as palindromic
pucleotiche sequence

Statement 11

Restriction endomucleases cut the DNA strand a little
away from the centre of the palindromic site

In the light of the above «tatements, dwase the most
appropriate answer fron the options given below

(1) Statement Fis ot but Statement 11 s
Arcorrect
(2) Statement Lis et bul Statement 11 =
correct
(3) - Both Statement 1.1 | Statement 1] are correct
(4) Both Statemcnt ! ind Statemant 1T are
incorrect
169. Which of the following 15 not the function of
cmtducﬁngpmd'»-‘-y:r.-l yry sysiem?
(1) Temperatur ofm haled air is Brought to body
temperatin
2 Providessurface 1o .hthx‘.mndokmdo')}
(3) It*miﬂh.‘.lv'd atr from loreign p@[k‘
(4) nhaled v is humidified
170, Givmbelmvnn two statements
Statement 1
M)‘cophsm.gm. pass through less than 1 misrom
filter size,
Statement I1:
Mytoplum are bacteria with cell wa |
ln“us‘l{ol!ln above statenyents, choos w oSt
Wm»-a or from the opt s jriven belows
\,Il) MV'H' I 1s correct bul Staten nt 1118
(2 Staternont 115 incorrect but Statement 11 18
corre!
(3) w Statement and Statement 1} arecornct
(‘) M}n Statement | and Statement Il arel
N0 7Tt
171, Under mero o wiogical conditions in huma
mmy 10 mi of oxygenated blood can & Hver
ml of L o the tissses
g
m St m
m : nl

m
incarrect
) Swe’nwnlluincrmectht&xmnmnu
correct
() HothStatement 1 and Statement Il are correct
{4y Both Statement I and Statement 11 are
L incorrect
boral lation of ‘80’
m mﬂ:&d}; dcamﬁnpgm population
™ individuals per Drosophila per week.
m 10
(2} e
A% 01
w w

‘.) 5ml
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172,

At which stage of hife the OOEONESin process 1
A "5 in
initiated ?

Huth
Alllll(
Pabyrty

Embryvonic development stage

)
2)
(3)
(#)

Tegmina in cockroach, arises from
(1
(2
(&)
)

173,
Metathorax

Prothorax and Mesothorax
Prothorax

Mesothorax

Given beliyw are two stalements
Statement 12

Fatty ncids and glycerols cannot be absorbed into
the blnod

Statement I1:

Specialized lymphatic capillaries called lacteals
carry chylomicrons mto lymphatic vessels and

ultimately into the blood.

In the light of the above statements, choose the mast
appropriate answer from the ophons given below

(1) Statement [ is correct but Statement 11 |s
meorrect

174

@

Statement | 15 incorrect but Statement 1 is
correct

Both Stateement Tand Statement I are correct

Both Statement I and Statement 11 are
Incorrect

3
)

175, Which of the following functions is not performed
by secrotions from salivary glands 7

(1) Lubncation of oral cavity

() Digestion of disaccharides

(9 Controt bacterial populatson in mouth

v :
_M4)  Digestion of complex carbohydrates

-

176 Natu'ml selection where more individoals acquire
specific character value other than the mean

charactor value, leads to
(1) Disruptivechange
(2) Random change
(3)  Stahifising change
(4)  Danectional change

22

181,

177,

179,

180,

2)

codnct 182 &
Iy am L.coli strain Pene ety mumh‘d an l,(,wth ‘
can not bind the inducer molecule: will b the

. . nat
medinm s provided with lactose, W ha |
Outcome 7

1
L) 8- A ganes wll not e u.mslnh-"‘
y S Smote) !
£ RNA polymerase will bind the pre
reglon s
(3 Only 2 gene will get transcribed ]
. “ ~Won BUNes w il be by a1yl ||b'\’ :
|
In pene therapy of Adenosime Deaminass (ADA)
dediciency, the patient requires perivdic mfusion of
genctically enginevred lymphocytes because . 1
(1) Lymphocytes from patient’s blood are growr.
in culture, cutside the body
@) Genetically engineered lymphocytes are no
immortal cells.
(3)  Retroviral vector i introduced into thes
lymphocytes 183.
()  Geneisolated from marrow cells producing
ADA is introduced into cells at embryonic -
stages
Which of the following s not a connective tissue ?
{h Cartilage
A2)  Neuroplia 184,
3) Blood
(4)  Adipose tissue
Breeding crops with higher levels of vitamins and
minerals or higher proteins and healthies fats
called :
A1) Bio-fortification E
2)  Bic-accumulation
3 Bio-magnification
(#)  Bio-remediation
185,
Which of the follow Ing statememts with respect to

lighsmic Reticulum is incorrect 7
W Inprokaryotes only RER are present
SER are the sitos for lipid synthesis

(3) RER has ribosomes attached to ER
%) SER is devold of ribosomies
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odyy = 23
O ”I ”& Giyen DW Are two shatemee sty Bection- B (alolm . z“h)‘y)
n n,,.: Statement I :
: g6, Select the incorredt statement regarding synapses
The coagulumis formed of network of threads called ] j ?
ghrombins (1) Chemical synapses ase neurotransmitiers
Moo, statement 11 (23 Impulse transmission across 4 chemical
synapoe s always faster than that acrass an
Sploen = the graveyard of ervthrocy b clectrical symapse
In the hgh( of the above statements, ¢ hoose the emost N The membranes of presynaphic a nd
appropoiate answer from the options given below postsynaptic nearons are 10 close proximity
; in an electrical Synipe
I) ) Statement | ©» correct but Statement 11 is
IA) meornect (4]  Eloctrical current can fow directly from one
1 of - neuron into the other across the electncal
(2) 5‘0'([:1(]11 L5 Incorrect but Statement 1 s SVnapoe
CorTe
DWW
{1)¢ Hoth Statement Land Statement TTarecormact | 157, Match List - Dwith List - 1T with nespect to methods
: e of Comtraception and thew respective achons
not oW Both Statement | and Statement Il are : ’L
Incorrect List-1 List-11
S0 n l)mphu,zms () Inbubst ovulation and
B3 Lippe’s loopisa type of contracoptive used as : Implantation
ing gu Non-Medicated TUD (b) Contraceptive (i) Licrease phagocytosis of
MUK ~ Pills sperm within Uterns
- . ¢
2y Copper releasing [UD
{ Ppperte ing IUT {c) Intra Uterme (1) Absence of Menstrual cycle
@  Cervical barrier Devices and ovulation following
o? parturition
4 Vault barrier .
{d) Lactational () They cover the corvix
Amenorrhea blocking the entry of
1M In the taxonomic categories which hierarchial spems
arrangement in ascending order is carrect in case of Choose the correet answer (rom the options given
arimals 7 befow
(1) Kingdom, Order, Class, Phylum, Family, () (a)-{ii), (b) = fiv), (o) (i), (d) - i)
Conus, Species : A
nd ¢ Pe (20 (W)= LAY = () (=) {d s - div)
s < o, - Phylum, Class, Family, ’ o (o oat
l ; f;'c';gd"?plx::m o " ) () (iv), b« (), () - k), () - (1)
us, S .
C (a)- (), [b) < (3), (o) « (), (d) - {ikd)
%) Kingdom, Phylum, Class, Order, Family, A ' I o507 P9
Genus, Species :
188, Select the incorrect statement with respect to
M) Kingdom, Class, Phylum, Family, Order, Acquired immurnity
L;mxuﬁ,‘;pz\‘li‘s
(1)  Anamnestic responss s due toaemary of first
encounter
185; : breakdown detritus into smallor _
& D?rl‘::u o;(_‘:b :«ﬂ; s callod ‘2)/,: Acquired immunity is non-specitic type of
particles pres “7 defense present at the time of birth
{) Humdicabion /(SX' Primary response s produced when our body
2 Dcu»m]mi‘m‘"‘ encounters a pathggen for the first time
o) Catabolism 4 Anamnestic response Is elicite d on
. a subsequent encounters with th. same
{6} Fragmentation pathogen.




7 . -‘muﬂl&'r
: an whoss
189, 4 & coliouy hlind female marmes & ':"w chances of Iwor
was also colour hlmd, w h'" ane :
Progeny having coloar blindness
(1) 75%
0%
M .
3) 25%
4 s
¢ flects of
19, Which of the following are not the effects
Parathyroid hormone !
) Stmulates the process of bone resorption
) Dicreases Ca* fevel in blood
) Reabscrpton of Ca®* by renal tubides
{4} Decreases the absorption of Ca®* from
digested food
1) Increuses metabolism of carbohydrates

19

Choose the most sppropriate
opbons given below

answer from the

(1 (a) and (&) only
) (®and (<} only
(3}  (ajand (€} only
4 (b (d)and (e)onby

Statements refasod to hisman Insalis are given befow

Which statoment(s) is/ are correct abaut genotically

engineered Insalin 7

() Prohormone inculin Contain extra stretch of
C-peptide

B A-peptide and B-peptide chains of msulin
were produced separately i £ s, extracted
and combined by Crezting disulphide bend
between them

€)  Insulin used for treating Diabetes wai
oxtracted from Cattles and Pigs.

(@)  Pro-hormone Insulin needs to be procesgad
for converting (nto a mature and Rinctional
harmone,

) Same patients develop Allergic reactions 1o
the foreign insulin

Choase the most Appropriate answer from the

OpBans given balow -

() f{c)and {d) onty

@ (O (d)and o) anly
() (. (b)and (dyoaly
“) (bjanly

24

i the following statements B noty,
‘hich o
192, W

. 10T AN )
~ates comn ey
v indica
Homelog
(T)
of penguins and dolphing 4. o
2 Flippers o1 p -
G o ﬂm.slngum organs
L)
; A 25 ATC A resy),
4 Analogous structure .o
3 convergent evolulzon
i potato 15 an exam,,
(4) Sweet potato and p bl

analogy

Which one of the following statements is coeyy
Viich one @

193,
(1)  Blood moves frecly from atrium to the Viiiing
during joint diastole
(2)  Increased ventricular Pressurne causes clog,,
of the semilunar valves
{3)  Theatrio-ventricular node (AVN) poneras
' an action potential to stimulate 41y,
contraction
(9)  The tricuspid and the bic uspid valves ope
due 1o the pressure exorted by the
simultaneous contraction of the atria
IS Which of the follnwmg is not a desirable featureofa
cloning vector ?
(1} Presence of single restriction enzyime site
(2} Presence of two Or more recognition sites
B)  Prosence of Origin of replication
(4) h‘l'ml‘ Ufa nu‘rk(s' Beng
195, Tha, inats
& 3 ‘e;fo\‘m::‘mm“ "“{lll'l\('y b.\(\\-.-._rn the RENes 8
c&d .’v ‘&LISJS'\.b&dug'\._,)&hm:il“.
" A% and & d is 209 What will be the
“'qwm@ﬂf um :
8€0es ona lineay chromosame 7
M ab, d
@ achy
® A b ¢
) q boac

197,

198,

{4
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Match List - T with List. 11

List-1 List-11

(Biological Molecules) (Biological functions)

(a) Glycogen (o Hormone ’
) Globulin . i} Bwocatalyst
ic) Sterowds o () Antibody_
¥ N\
i) Ihrambin Yiv) Storage product

Choose the correct answer from the ophions given
elow

() ()= ()« (iwp {¢) - (i), (d) - (i)
A2 Am) - (ov), (D)~ (adi), () -(1), {d) - Gy
3) ()~ (&1, () - (@), {c}- Qwd (d) - (i)
'm' {@) ~ (v, (b) - (i), (e} - (1) (f) - (ali)

Match List « I with List-11

List-1 List- 11
{." Bronchioles 1) Dense an;u!o\'
Connective Tssue
B Gobletcell (1) Lovse Conmctive

[issue
) Tendons (1) Glandular Tissue
() Adipese Tissue (Iv) C tted Epithalnam

Choose the correct answer frogn the ophions given
Delow

() (a)- (), (b) - (), (€) ~ (1), (d) - (Hil)
2 (al-(sh\.(h}~U\'),(c)-nll.(d}'(ll
B (a) - (iv), (b) - (i), () - (1) (e} - 1)
[y (a) - (i), (b) - i), () - (i) ()¢ (vl

195, Which of the following is # correct statement 7

(1) Slime moulds are saprophytic organiams
classified under Kingdom Monera

@) Mycoplasma have DNA. Ribosome and cell

wall |

o /Cy.mohacterin are a group of autotrophic
organisms classified under Kingdom

Manerea
e exclusively heterotrophic

#3)  Bactena ar
o;"misms

Caven betow are two statements
Statement |
In 8 scrubber the exhaost from the thermal 'n'.\."l.' "

passed through Uw electsic wires o charge the dust
particies

Statement 11:

Partsculate matter (PN 2.5) can not be removed by
scrubber but can be romoved by

precipatator

an eiactrosiotx

In the fight of the above statements, choote the most
appropriste answer from the options given below

1 Statement | 18 coreec! bul Statement 11 »
oosTect

) Statement | s aworrect but Statement 1 »
cornxt

3 Roth Statement [ and Statement [l are correct

4) Both Statement 1 and Statement I ar

meormest

Ten £.coli cells with ' N « dsDNA are incubated in
medium cantalning N nucleotide. After ol
minutes, haw many oot cells will have DNA totally
free from N 7 =

y R N ,_-fr: brF
1) a0 cells ‘4 o
12) Hilcells
() 20 cells \C

)  Acells

oo




